

Καραφουλής Ευστάσιος A.M. 201301

$$\varepsilon y'' - x^2 y' - y = 0 \quad y(0) = y(1) = 1$$

Εξωτερικό Ανάπτυγμα  $\varepsilon = 0$

$$-x^2 y_0' - y = 0 \Rightarrow -x^2 \frac{dy_0}{dx} = y_0$$

$$\Rightarrow \frac{1}{y_0} dy_0 = -\frac{1}{x^2} dx \Rightarrow \ln y_0 = \frac{1}{x} + c$$

$$\Rightarrow y_0(x) = e^{\frac{1}{x} + c} \Rightarrow y_0(x) = C_0 e^{\frac{1}{x}}, \quad C_0 = e^c$$

Άρα  $y_0(x) = 0$ .

$$\lim_{x \rightarrow 0^+} y_0(x) = \lim_{x \rightarrow 0} C_0 e^{\frac{1}{x}} = \lim_{u \rightarrow +\infty} C_0 e^u = +\infty.$$

$$\lim_{x \rightarrow 0^+} \frac{1}{x} = +\infty$$

Άφου  $0 \leq y(x) \leq 1 \Rightarrow C_0 = 0$ .

## Εσωτερικό Ανάπτυγμα στο $x=1$

$$-x^4 \approx -1 \quad \eta = \frac{1-x}{\varepsilon} \Rightarrow n\varepsilon = 1-x \Rightarrow x = 1 - \varepsilon n. \quad \frac{dn}{dx} = -\frac{1}{\varepsilon}$$

$$Y(x) = y\left(\frac{1-x}{\varepsilon}\right) \Rightarrow \dot{Y}(x) = \dot{y}\left(\frac{1-x}{\varepsilon}\right) \left(-\frac{1}{\varepsilon}\right) = -\frac{1}{\varepsilon} \dot{y}\left(\frac{1-x}{\varepsilon}\right) = -\frac{1}{\varepsilon} \dot{Y}(n)$$

$$\Rightarrow \ddot{Y}(x) = \ddot{y}\left(\frac{1-x}{\varepsilon}\right) \left(-\frac{1}{\varepsilon}\right)^2 = \frac{1}{\varepsilon^2} \ddot{y}\left(\frac{1-x}{\varepsilon}\right) = \frac{1}{\varepsilon^2} \ddot{Y}(n)$$

$$\text{Άρα} \quad \frac{1}{\varepsilon} \ddot{Y} + (1-\varepsilon n)^2 \frac{1}{\varepsilon} \dot{Y} - Y = 0 \Rightarrow \ddot{Y} + (1-\varepsilon n)^2 \dot{Y} - \varepsilon Y = 0$$

$$\varepsilon=0 \Rightarrow \ddot{Y} + \dot{Y} = 0 \Rightarrow \frac{d\dot{Y}}{dn} = -\dot{Y} \Rightarrow \frac{1}{\dot{Y}} d\dot{Y} = -dn \Rightarrow \ln \dot{Y} = -n + C$$

$$\Rightarrow \dot{Y} = e^{-n+C} \Rightarrow \dot{Y} = c_1 e^{-n}$$

$$\frac{dY}{dn} = c_1 e^{-n} \Rightarrow dY = c_1 e^{-n} dn \Rightarrow Y = c_1 e^{-n} + c_2$$

$$Y(0) = 1 \Rightarrow c_1 + c_2 = 1.$$

Συναρτησιή στο  $\chi = 1$

$$\lim_{n \rightarrow +\infty} Y(n) = 0 \Rightarrow \lim_{n \rightarrow +\infty} C_1 e^{-n} + C_2 = 0 \Rightarrow C_2 = 0 \Rightarrow C_1 = 1$$

Άρα  $Y(n) = e^{-n}$

## Εξωζερικό Ανάπτυγμα στο $x=0$

$$n = \frac{x}{\delta} \Rightarrow x = \delta n$$

$$Y(x) = y\left(\frac{x}{\delta}\right) \Rightarrow \dot{Y}(x) = \dot{y}\left(\frac{x}{\delta}\right) \frac{1}{\delta} = \frac{1}{\delta} \dot{Y}(n)$$

$$Y(0) = 1$$

$$\Rightarrow \ddot{Y}(x) = \ddot{y}\left(\frac{x}{\delta}\right) \frac{1}{\delta^2} = \frac{1}{\delta^2} \ddot{Y}(n)$$

$$\text{Άρα } \frac{\varepsilon}{\delta^2} \ddot{Y} - \delta^2 n^2 \dot{Y} - Y = 0$$

$$\text{Έστω ότι } \frac{\varepsilon}{\delta^2} \sim \delta^2 \Rightarrow \delta^2 (\ddot{Y} - n^2 \dot{Y}) - Y = 0 \Rightarrow Y = 0 \text{ . Μη αποδεκτή.}$$

$$\text{Έστω ότι } \delta^2 \sim 1 \Rightarrow \varepsilon \ddot{Y} - n^2 \dot{Y} - Y = 0 \text{ Συμπίπτει με την εξωζερική}$$

Μη αποδεκτή.

$$\text{Άρα } \frac{\varepsilon}{\delta^2} \sim 1 \Rightarrow \ddot{Y} - \varepsilon n^2 \dot{Y} - Y = 0$$

$$\varepsilon = 0 \Rightarrow \ddot{Y} - Y = 0 \quad m^2 - 1 = 0 \Rightarrow m_1 = 1, m_2 = -1$$

$$\text{Άρα } Y(n) = c_1 e^n + c_2 e^{-n}$$

$$Y(0) = 1 \Rightarrow c_1 + c_2 = 1 \quad \text{Άφου } 0 \leq Y(n) \leq 1 \Rightarrow c_1 = 0 \text{ και } c_2 = 1$$

Συναρμογή 620  $x=0$

$$\lim_{n \rightarrow +\infty} y(n) = 0 \iff \lim_{n \rightarrow +\infty} e^{-n} = 0 \quad \text{16 χύεα.}$$

# Ομοιόμορφη Προσέγγιση

$$y_{\text{ομ}}(x) = e^{-\frac{x}{\sqrt{\varepsilon}}} + e^{-\frac{1-x}{\varepsilon}}$$